BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
OCTOBER 31, 2024
LJA ENGINEERING, INC.
C CORTEZ
OCTOBER 31, 2024
1417-1583D (9.2)

| BIDDER'S NAME | TOTAL AMOUNT BID | BID INCLUDING ALTERNATE BID NO. 1 – WS&D FIELD CONDITIONS ITEMS |
|--------------------------------------|------------------|---|
| 1) R CONSTRUCTION CIVIL, LLC | \$1,867,640.64 | \$1,996,012.64 |
| 2) CROSTEX CONSTRUCTION INC. | \$1,888,000.00 | \$2,016,372.00 |
| 3) BLAZEY CONSTRUCTION SERVICES LLC | \$1,888,281.08 | \$2,016,653.08 |
| 4) NORTHTEX CONSTRUCTION, LLC | \$1,951,633.24 | \$2,080,005.24 |
| 5) TEXASITE, LLC | \$1,968,125.43 | \$2,096,497.43 |
| 6) HURTADO CONSTRUCTION COMPANY | \$1,968,662.97 | \$2,097,034.97 |
| 7) RODRIGUEZ CONSTRUCTION GROUP, LLC | \$2,129,602.75 | \$2,257,974.75 |
| 8) FELLERS AND CLARK LP | \$2,239,000.00 | \$2,367,372.00 |

CALENDAR DAYS 50/60

I, RICHARD STANF D, P.E., hereby certily these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
OCTOBER 31, 2024

LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024 1417-1583D (9.2)

| | | | 1) R CONSTRUCTI | R CONSTRUCTION CIVIL, LLC | | 2) CROSTEX CONSTRUCTION INC. | | 3) BLAZEY CONSTRUCTION SERVICES LLC | |
|--|----------|-------|-----------------|---------------------------|-------------|------------------------------|-------------|-------------------------------------|--|
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | |
| WATER DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | | | | | | |
| 1 METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARTNERS, L.P., 281.499.4539, COMPLETE IN PLACE | LS | 1 | \$12,302.00 | \$12,302.00 | \$12,600.00 | \$12,600.00 | \$12,302.00 | \$12,302.00 | |
| 2 AS BUILT CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARNERS, LP, 281.499.4539, COMPLETE IN PLACE | LS | 1 | \$2,500.00 | \$2,500.00 | \$2,600.00 | \$2,600.00 | \$2,500.00 | \$2,500.00 | |
| 3 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE | EA | 17 | \$2,100.00 | \$35,700.00 | \$1,715.00 | \$29,155.00 | \$2,000.00 | \$34,000.00 | |
| 4 8" PLUG AND CLAMP, COMPLETE IN PLACE | EA | 3 | \$200.00 | \$600.00 | \$150.00 | \$450.00 | \$420.00 | \$1,260.00 | |
| 5 2" BLOW OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE | EA | 3 | \$620.00 | \$1,860.00 | \$540.00 | \$1,620.00 | \$850.00 | \$2,550.00 | |
| 6 8" PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE | LF | 2805 | \$32.00 | \$89,760.00 | \$30.25 | \$84,851.25 | \$35.00 | \$98,175.00 | |
| 7 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, 6" LEAD, FLUSHING VALVE, COMPLETE IN PLACE | EA | 8 | \$6,500.00 | \$52,000.00 | \$6,600.00 | \$52,800.00 | \$6,600.00 | \$52,800.00 | |
| 8 CAST IRON FITTINGS, COMPLETE IN PLACE | TON | 1.47 | \$5,200.00 | \$7,644.00 | \$3,800.00 | \$5,586.00 | \$5,400.00 | \$7,938.00 | |
| 9 TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE | LF | 2805 | \$1.00 | \$2,805.00 | \$0.01 | \$28.05 | \$0.20 | \$561.00 | |
| 10 REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CLAMP AND CONNECT PROPOSED 8" WATERLINE, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$220.00 | \$220.00 | \$450.00 | \$450.00 | \$220.00 | \$220.00 | |
| 11 SHORT SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY FITTINGS, ETC., COMPLETE IN PLACE | EA | 27 | \$650.00 | \$17,550.00 | \$675.00 | \$18,225.00 | \$670.00 | \$18,090.00 | |
| 12 LONG SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY FITTINGS, ETC., COMPLETE IN PLACE | EA | 49 | \$1,350.00 | \$66,150.00 | \$1,250.00 | \$61,250.00 | \$1,300.00 | \$63,700.00 | |
| WATER DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) SUBTOTAL: | | | | \$289,091.00 | | \$269,615.30 | | \$294,096.00 | |
| SANITARY SEWER SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | 1 | | | | | | | | |
| 1 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 0' – 12' DEPTH, COMPLETE IN PLACE | LF | 1100 | \$35.00 | \$38,500.00 | \$32.50 | \$35,750.00 | \$39.00 | \$42,900.00 | |
| 2 8" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 12' - 16' DEPTH, COMPLETE IN PLACE | LF | 1135 | \$36.00 | \$40,860.00 | \$37.25 | \$42,278.75 | \$43.00 | \$48,805.00 | |
| 3 8" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 16' - 20' DEPTH, COMPLETE IN PLACE | LF | 139 | \$50.00 | \$6,950.00 | \$43.00 | \$5,977.00 | \$51.00 | \$7,089.00 | |
| 4 12" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 16' - 20' DEPTH, COMPLETE IN PLACE | LF | 117 | \$66.00 | \$7,722.00 | \$65.00 | \$7,605.00 | \$76.00 | \$8,892.00 | |
| 5 5' SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE | EA | 7 | \$7,700.00 | \$53,900.00 | \$6,400.00 | \$44,800.00 | \$5,600.00 | \$39,200.00 | |
| 6 EXTRA VERTICAL DEPTH OF 5' SANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE IN PLACE | VF | 51.14 | \$500.00 | \$25,570.00 | \$640.00 | \$32,729.60 | \$530.00 | \$27,104.20 | |
| 7 8" SANITARY SEWER PLUG, COMPLETE IN PLACE | EA | 2 | \$100.00 | \$200.00 | \$100.00 | \$200.00 | \$210.00 | \$420.00 | |
| 8 STANDARD SANITARY SEWER DROP STRUCTURE (0'-2'), ALL SIZES, COMPLETE IN PLACE | EA | 2 | \$950.00 | \$1,900.00 | \$1,000.00 | \$2,000.00 | \$1,560.00 | \$3,120.00 | |
| 9 STANDARD SANITARY SEWER DROP STRUCTURE (0'-2'), ALL SIZES, COMPLETE IN PLACE | VF | 10.92 | \$17.00 | \$185.64 | \$50.00 | \$546.00 | \$64.00 | \$698.88 | |

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024

2) CROSTEX CONSTRUCTION INC.

3) BLAZEY CONSTRUCTION SERVICES LLC

| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
|------|---|------|------|------------|--------------|------------|--------------|------------|--------------|
| 10 | STANDARD SANITARY SEWER MANHOLE, (0' $-$ 8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE | EA | 11 | \$4,200.00 | \$46,200.00 | \$4,350.00 | \$47,850.00 | \$3,450.00 | \$37,950.00 |
| 11 | EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE IN PLACE | VF | 21.7 | \$250.00 | \$5,425.00 | \$435.00 | \$9,439.50 | \$250.00 | \$5,425.00 |
| 12 | "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURE, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE | LF | 838 | \$52.00 | \$43,576.00 | \$46.00 | \$38,548.00 | \$78.00 | \$65,364.00 |
| 13 | "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURES, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE | EA | 26 | \$1,400.00 | \$36,400.00 | \$1,480.00 | \$38,480.00 | \$1,250.00 | \$32,500.00 |
| 14 | T.V. INSPECTION OF SANITARY SEWER LINES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 2941 | \$2.00 | \$5,882.00 | \$2.00 | \$5,882.00 | \$2.00 | \$5,882.00 |
| 15 | TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE | LF | 3329 | \$2.00 | \$6,658.00 | \$2.00 | \$6,658.00 | \$2.00 | \$6,658.00 |
| 16 | FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE | EA | 18 | \$50.00 | \$900.00 | \$100.00 | \$1,800.00 | \$110.00 | \$1,980.00 |
| 17 | REMOVE AND DISPOSE OF EXISTING 12" PLUG AND CONNECT PROPOSED SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$975.00 | \$975.00 | \$250.00 | \$250.00 | \$3,000.00 | \$3,000.00 |
| SANI | TARY SEWER SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL: | | | | \$321,803.64 | | \$320,793.85 | | \$336,988.08 |
| DRA | NAGE FACILITIES ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | AK | | | | | |
| 1 | 24° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 1589 | \$74.00 | \$117,586.00 | \$74.00 | \$117,586.00 | \$69.00 | \$109,641.00 |
| 2 | 30" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 43 | \$102.00 | \$4,386.00 | \$94.00 | \$4,042.00 | \$87.00 | \$3,741.00 |
| 3 | 36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 226 | \$126.00 | \$28,476.00 | \$128.00 | \$28,928.00 | \$118.00 | \$26,668.00 |
| 4 | 42" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 417 | \$165.00 | \$68,805.00 | \$169.00 | \$70,473.00 | \$157.00 | \$65,469.00 |
| 5 | 48" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 58 | \$234.00 | \$13,572.00 | \$201.00 | \$11,658.00 | \$190.00 | \$11,020.00 |
| 6 | 54" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 36 | \$285.00 | \$10,260.00 | \$290.00 | \$10,440.00 | \$272.00 | \$9,792.00 |
| 7 | 60° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 400 | \$316.00 | \$126,400.00 | \$334.00 | \$133,600.00 | \$313.00 | \$125,200.00 |
| 8 | 5'X5' R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 77 | \$428.00 | \$32,956.00 | \$478.00 | \$36,806.00 | \$445.00 | \$34,265.00 |
| 9 | 6'X5' R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 116 | \$540.00 | \$62,640.00 | \$578.00 | \$67,048.00 | \$542.00 | \$62,872.00 |
| 10 | $7^{\circ}\!\text{X5}^{\circ}\!\text{ R.C.B.}$ STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 178 | \$660.00 | \$117,480.00 | \$685.00 | \$121,930.00 | \$626.00 | \$111,428.00 |
| 11 | $7^{\circ}\text{X6}^{\circ}$ R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 160 | \$710.00 | \$113,600.00 | \$727.00 | \$116,320.00 | \$670.00 | \$107,200.00 |

1417-1583D (9.2)

1) R CONSTRUCTION CIVIL, LLC

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024

| | | | | 1) R CONSTRUCTION CIVIL, LLC | | 2) CROSTEX CONSTRUCTION INC. | | 3) BLAZEY CONSTRUCTION SERVICES LLC | |
|------|---|------|------|------------------------------|--------------|------------------------------|----------------|-------------------------------------|--------------|
| ITEN | M DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| | 10'X7' R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 154 | \$1,180.00 | \$181,720.00 | \$1,170.00 | \$180,180.00 | \$1,039.00 | \$160,006.00 |
| 12 | PLACE | LF | 134 | \$1,160.00 | \$101,720.00 | \$1,170.00 | \$ 100, 100.00 | \$1,039.00 | \$100,000.00 |
| 13 | STAGE I - 10' PRECAST CURB INLET (ALL DEPTHS), (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE | EA | 13 | \$1,050.00 | \$13,650.00 | \$3,000.00 | \$39,000.00 | \$1,200.00 | \$15,600.00 |
| 14 | STAGE II - 10' PRECAST CURB INLET (ALL DEPTHS), (INCLUDES TEMPORARY SAND FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE | EA | 13 | \$2,900.00 | \$37,700.00 | \$1,100.00 | \$14,300.00 | \$2,450.00 | \$31,850.00 |
| 15 | TYPE "C" MANHOLE WITH TYPE "E" TOP FOR 42" STORM SEWER AND SMALLER, COMPLETE IN PLACE | EA | 1 | \$4,400.00 | \$4,400.00 | \$4,000.00 | \$4,000.00 | \$4,800.00 | \$4,800.00 |
| 16 | TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, COMPLETE IN PLACE | EA | 5 | \$7,100.00 | \$35,500.00 | \$5,300.00 | \$26,500.00 | \$7,500.00 | \$37,500.00 |
| 17 | JUNCTION BOX WITH TYPE "C" MANHOLE PER DETAIL, ALL DEPTHS, COMPLETE IN PLACE | EA | 6 | \$18,000.00 | \$108,000.00 | \$20,000.00 | \$120,000.00 | \$15,500.00 | \$93,000.00 |
| 18 | JUNCTION BOX WITH TYPE "C" MANHOLE WITH TYPE "E" INLET TOP PER DETAIL, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$18,000.00 | \$18,000.00 | \$17,000.00 | \$17,000.00 | \$16,000.00 | \$16,000.00 |
| 19 | STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE | EA | 14 | \$1,200.00 | \$16,800.00 | \$2,000.00 | \$28,000.00 | \$1,400.00 | \$19,600.00 |
| 20 | STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE | EA | 14 | \$2,600.00 | \$36,400.00 | \$900.00 | \$12,600.00 | \$1,900.00 | \$26,600.00 |
| 21 | TYPE "C" MANHOLE FOR 42° STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE | EA | 14 | \$2,900.00 | \$40,600.00 | \$3,400.00 | \$47,600.00 | \$3,200.00 | \$44,800.00 |
| 22 | CITY OF MISSOURI CITY (COMC) CONSTRUCTION PERMIT FOR CONSTRUCTION OF WS&D (PERCENTAGE OF WS&D CONSTRUCTION COST AS REQUIRED BY COMC), COMPLETE IN PLACE | LS | 1 | \$12,000.00 | \$12,000.00 | \$22,137.15 | \$22,137.15 | \$23,000.00 | \$23,000.00 |
| 23 | TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE | LF | 3454 | \$1.00 | \$3,454.00 | \$0.05 | \$172.70 | \$0.20 | \$690.80 |
| 24 | FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE | EA | 27 | \$50.00 | \$1,350.00 | \$25.00 | \$675.00 | \$112.00 | \$3,024.00 |
| 25 | WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED ON- SITE, INCLUDES EXCAVATION, HAULING, PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE | CY | 7054 | \$1.00 | \$7,054.00 | \$1.50 | \$10,581.00 | \$3.30 | \$23,278.20 |
| 26 | INSTALLATION AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 1 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 |
| 27 | CLEANOUT AND TOTAL DE-SILTING OF STORM SEWER SYSTEM, BY ANY MEANS NECESSARY, INCLUDING COFFER DAMS, PUMPING, AND ALL OTHER APPURTENANCES (ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 3454 | \$4.00 | \$13,816.00 | \$4.00 | \$13,816.00 | \$4.00 | \$13,816.00 |
| 28 | ANY REQUIRED FORT BEND COUNTY PERMITS, COMPLETE IN PLACE | LS | 1 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$15,000.00 | \$15,000.00 |
| 29 | 8" BRICK PLUG FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE | EA | 3 | \$650.00 | \$1,950.00 | \$500.00 | \$1,500.00 | \$1,800.00 | \$5,400.00 |
| 30 | PROPOSED V-BOTTOM SWALE, INCLUDES EXCAVATION, EMBANKMENT, STRIPPING, STOCKPILE OF STRIPPINGS, RE-APPLICATION OF STRIPPINGS, AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE | LF | 692 | \$3.00 | \$2,076.00 | \$4.00 | \$2,768.00 | \$9.00 | \$6,228.00 |

1417-1583D (9.2)

Page 4 of 16 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS SUBTOTAL:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024

\$128.372.00

2) CROSTEX CONSTRUCTION INC.

3) BLAZEY CONSTRUCTION SERVICES LLC

| | | | 1) R CONSTRUCTIO | JN CIVIL, LLC | 2) CROSTEX CONS | TRUCTION INC. | 3) BLAZEY CONSTRUC | I ION SERVICES LLC |
|--|--------|------|------------------|----------------|-----------------|----------------|--------------------|--------------------|
| ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| 31 DEMUCK, SCARIFY, AND PROOF ROLL EXISTING V-BOTTOM SWALES, COMPLET IN PLACE | TE SY | 2706 | \$2.50 | \$6,765.00 | \$5.00 | \$13,530.00 | \$13.00 | \$35,178.00 |
| 32 REMOVE AND DISPOSE OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE | D EA | 1 | \$650.00 | \$650.00 | \$500.00 | \$500.00 | \$730.00 | \$730.00 |
| 33 TYPE "E" INLET PER COMC STANDARDS, INLET TOP TO BE FLUSH WITH NATUR, GROUND, COMPLETE IN PLACE | AL EA | 1 | \$2,600.00 | \$2,600.00 | \$3,800.00 | \$3,800.00 | \$2,700.00 | \$2,700.00 |
| 34 TYPE "A" INLET PER COMC STANDARDS, INLET TOP TO BE FLUSH WITH PAVEMENT, COMPLETE IN PLACE | EA | 4 | \$2,400.00 | \$9,600.00 | \$3,400.00 | \$13,600.00 | \$2,400.00 | \$9,600.00 |
| DRAINAGE FACILITIES ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL: | | | | \$1,256,746.00 | | \$1,297,590.85 | | \$1,257,197.00 |
| MISCELLANEOUS ITEMS | | | | | | | | |
| 1 STANDARD DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER ON BEHALF OF THE CONTRACTOR, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | R EA | 0 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 |
| 2 STANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), COMPLETE IN PLACE | HR | 0 | -\$125.00 | \$0.00 | -\$125.00 | \$0.00 | -\$125.00 | \$0.00 |
| 3 STANDARD DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE CONTRACTOR, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 0 | -\$10.00 | \$0.00 | -\$10.00 | \$0.00 | -\$10.00 | \$0.00 |
| 4 STANDARD DEDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE |) EA | 0 | -\$1,000,00 | \$0.00 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 |
| MISCELLANEOUS ITEMS SUBTOTAL: | | | | \$0.00 | | \$0.00 | | \$0.00 |
| ALTERNATE BID NO. 1 – WS&D FIELD CONDITIONS ITEMS | | | | | | | | |
| 1 BORE AND JACK OR AUGER (WET BORE) OF WATER LINE, ALL DEPTHS, ALL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 100 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 |
| 2 BORE PITS FOR WATER LINE BORE, INCLUDES BORE PIT, DEWATERING OF BOP PIT, TRENCH SAFETY FOR BORE PIT, & FILLED WITH 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE | | 2 | \$100.00 | \$200.00 | \$100.00 | \$200.00 | \$100.00 | \$200.00 |
| 3 DEWATERING OF RIGHT OF WAY (ALL DEPTHS, THIS IS AN ESTIMATED QUANTI' TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLET IN PLACE | | 3300 | \$20.00 | \$66,000.00 | \$20.00 | \$66,000.00 | \$20.00 | \$66,000.00 |
| 4 BORE AND JACK OR AUGER (WET BORE) OF SANITARY SEWER, ALL DEPTHS, A SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LL LF | 100 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 |
| 5 BORE PITS FOR SANITARY SEWER BORE, INCLUDES BORE PIT, DEWATERING O BORE PIT, TRENCH SAFETY FOR BORE PIT, AND FILLED WITH 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE | OF EA | 2 | \$100.00 | \$200.00 | \$100.00 | \$200.00 | \$100.00 | \$200.00 |
| 6 ADDITIONAL COST FOR MISSOURI CITY MODIFIED "A-A" SANITARY SEWER BEDDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 1391 | \$12.00 | \$16,692.00 | \$12.00 | \$16,692.00 | \$12.00 | \$16,692.00 |
| 7 CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEE) COMPLETE IN PLACE | R), CY | 500 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 |
| 8 ADDITIONAL COST FOR MISSOURI CITY MODIFIED "A-A" STORM SEWER BEDDIN (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | NG, LF | 1955 | \$16.00 | \$31,280.00 | \$16.00 | \$31,280.00 | \$16.00 | \$31,280.00 |

1417-1583D (9.2)

1) R CONSTRUCTION CIVIL, LLC

\$128.372.00 Page 5 of 16 LJA Engineering, Inc.

\$128,372.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024 1417-1583D (9.2)

2) CROSTEX CONSTRUCTION INC.

| | | | | 1) R CONSTRUC | TION CIVIL, LLC | 2) CRUSTEX COI | 15 I RUCTION INC. | 3) BLAZEY CONSTRU | JUTION SERVICES LLC |
|----------------------------------|--|------|-----|---------------|-----------------|----------------|-------------------|-------------------|---------------------|
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| BIDDING SUMMARY | | | | | | | | | |
| SUBTOTAL WATER DISTRIBUTION S | YSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | \$289,091.00 | | \$269,615.30 | | \$294,096.00 |
| SUBTOTAL SANITARY SEWER SYSTE | EM ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | \$321,803.64 | | \$320,793.85 | | \$336,988.08 |
| SUBTOTAL DRAINAGE FACILITIES IT | EMS – INTERNAL (SIENNA MUD NO. 7) | | | | \$1,256,746.00 | | \$1,297,590.85 | | \$1,257,197.00 |
| SUBTOTAL MISCELLANEOUS ITEMS | | | | | \$0.00 | | \$0.00 | | \$0.00 |
| TOTAL AMOUNT BASE BID | | | | | \$1,867,640.64 | | \$1,888,000.00 | | \$1,888,281.08 |
| ALTERNATE BID NO. 1 – WS&D FIEL | D CONDITIONS ITEMS | | | | | | | | |
| TOTAL AMOUNT BASE BID | | | | | \$1,867,640.64 | | \$1,888,000.00 | | \$1,888,281.08 |
| SUBTOTAL ALTERNATE BID NO. 1 – \ | WS&D FIELD CONDITIONS ITEMS | | | | \$128,372.00 | | \$128,372.00 | | \$128,372.00 |
| TOTAL AMOUNT INCLUDING ALTERI | NATE BID NO. 1 – WS&D FIELD CONDITIONS ITEMS | | | | \$1,996,012.64 | | \$2,016,372.00 | | \$2,016,653.08 |
| | | | 9 | | | | | | |

1) R CONSTRUCTION CIVIL, LLC



3) BLAZEY CONSTRUCTION SERVICES LLC

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024

OCTOBER 31, 2024 LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024

1417-1583D (9.2)

| LJA JOB NO. | | | 1417-1363D (9.2) | | | | | | |
|--|---------------|---------|------------------|-----------------|-------------|--------------|-------------------|----------------|--|
| | | | 4) NORTHTEX COI | NSTRUCTION, LLC | 5) TEXAS | ITE, LLC | 6) HURTADO CONSTR | UCTION COMPANY | |
| ITEM DESCRIPTION | U | VIT QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | |
| WATER DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | | | | | | |
| 1 METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER JO BORDOVSKY, GBI PARTNERS, L.P., 281.499.4539, COMPLETE IN PLACE | | S | 1 \$12,302.00 | \$12,302.00 | \$12,302.00 | \$12,302.00 | \$12,302.00 | \$12,302.00 | |
| 2 AS BUILT CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARNERS, LP, 281.499.4539, COMPLETE IN PLACE | L | S | 1 \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 | |
| 3 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE | E | A 1 | 7 \$2,542.59 | \$43,224.03 | \$1,866.00 | \$31,722.00 | \$1,908.00 | \$32,436.00 | |
| 4 8" PLUG AND CLAMP, COMPLETE IN PLACE | E | A | 3 \$494.18 | \$1,482.54 | \$244.00 | \$732.00 | \$298.00 | \$894.00 | |
| 5 2" BLOW OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE | E | A | 3 \$2,323.42 | \$6,970.26 | \$662.00 | \$1,986.00 | \$638.00 | \$1,914.00 | |
| 6 8" PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN | N PLACE L | F 280 | 5 \$33.58 | \$94,191.90 | \$33.00 | \$92,565.00 | \$40.45 | \$113,462.25 | |
| 7 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6 VALVE & BOX, 6" LEAD, FLUSHING VALVE, COMPLETE IN PLACE | 6" GATE E | A | 8 \$6,791.89 | \$54,335.12 | \$6,080.00 | \$48,640.00 | \$7,448.00 | \$59,584.00 | |
| 8 CAST IRON FITTINGS, COMPLETE IN PLACE | TO | ON 1.4 | 7 \$6,721.70 | \$9,880.90 | \$5,123.00 | \$7,530.81 | \$5,280.00 | \$7,761.60 | |
| 9 TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PL | ACE L | F 280 | 5 \$0.37 | \$1,037.85 | \$1.00 | \$2,805.00 | \$0.18 | \$504.90 | |
| 10 REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CLAMP AND CONN PROPOSED 8" WATERLINE, ALL DEPTHS, COMPLETE IN PLACE | NECT E | A | 1 \$588.13 | \$588.13 | \$1,400.00 | \$1,400.00 | \$8.00 | \$8.00 | |
| 11 SHORT SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEAL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECES FITTINGS, ETC., COMPLETE IN PLACE | | A 2 | 7 \$877.86 | \$23,702.22 | \$578.00 | \$15,606.00 | \$708.00 | \$19,116.00 | |
| 12 LONG SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEADS DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECES FITTINGS, ETC., COMPLETE IN PLACE | | A 4 | 9 \$1,321.51 | \$64,753.99 | \$1,134.00 | \$55,566.00 | \$1,465.00 | \$71,785.00 | |
| WATER DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) SU | IBTOTAL: | | | \$314,968.94 | | \$273,354.81 | | \$322,267.75 | |
| SANITARY SEWER SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | | | | | | |
| 1 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 0' – 12' DEPTH COMPLETE IN PLACE | l, L | F 110 | \$37.71 | \$41,481.00 | \$41.00 | \$45,100.00 | \$58.38 | \$64,218.00 | |
| 2 8" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 12' - 16' DEPTH, IN PLACE | COMPLETE L | F 113 | 5 \$51.83 | \$58,827.05 | \$43.00 | \$48,805.00 | \$68.00 | \$77,180.00 | |
| 3 8" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 16' - 20' DEPTH, IN PLACE | COMPLETE L | F 13 | 9 \$54.07 | \$7,515.73 | \$46.00 | \$6,394.00 | \$88.00 | \$12,232.00 | |
| 4 12" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 16' - 20' DEPTH, IN PLACE | , COMPLETE L | F 11 | 7 \$84.51 | \$9,887.67 | \$57.00 | \$6,669.00 | \$108.00 | \$12,636.00 | |
| 5 5' SANITÁRY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDING INFLOW PI AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE | ROTECTOR E | A | 7 \$6,909.50 | \$48,366.50 | \$6,158.00 | \$43,106.00 | \$7,188.00 | \$50,316.00 | |
| 6 EXTRA VERTICAL DEPTH OF 5' SANITARY SEWER MANHOLES, (OVER COMPLETE IN PLACE | 8' DEPTH), V | F 51.1 | 4 \$457.67 | \$23,405.24 | \$397.00 | \$20,302.58 | \$428.00 | \$21,887.92 | |
| 7 8" SANITARY SEWER PLUG, COMPLETE IN PLACE | E | A | 2 \$645.11 | \$1,290.22 | \$637.00 | \$1,274.00 | \$78.00 | \$156.00 | |
| 8 STANDARD SANITARY SEWER DROP STRUCTURE (0'-2'), ALL SIZES, C PLACE | COMPLETE IN E | A | 2 \$1,854.43 | \$3,708.86 | \$1,124.00 | \$2,248.00 | \$988.00 | \$1,976.00 | |
| 9 STANDARD SANITARY SEWER DROP STRUCTURE (0'-2'), ALL SIZES, C PLACE | COMPLETE IN V | F 10.9 | 2 \$13.88 | \$151.57 | \$32.00 | \$349.44 | \$12.00 | \$131.04 | |

Page 7 of 16 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LIA ENGINEFERING INC

5) TEXASITE, LLC

6) HURTADO CONSTRUCTION COMPANY

LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024 1417-1583D (9.2)

4) NORTHTEX CONSTRUCTION, LLC

| | | | | 4) NORTHER CON | TINOCTION, LEC | 3) ILXAGII | L, LLO | 0) HORTADO CONOTIC | SCHOOL COMILANT |
|----------------|---|------|------|----------------|----------------|------------|--------------|--------------------|-----------------|
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| | NDARD SANITARY SEWER MANHOLE, (0' – 8' DEPTH), INCLUDING INFLOW DTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE | EA | 11 | \$4,843.10 | \$53,274.10 | \$4,087.00 | \$44,957.00 | \$4,688.00 | \$51,568.00 |
| | RA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLES, (OVER 8' PTH), COMPLETE IN PLACE | VF | 21.7 | \$171.62 | \$3,724.15 | \$288.00 | \$6,249.60 | \$285.00 | \$6,184.50 |
| SDF BAC | NG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, R 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND CKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURE, AND ANY DESSARY FITTINGS, ETC., COMPLETE IN PLACE | LF | 838 | \$57.00 | \$47,766.00 | \$48.00 | \$40,224.00 | \$80.00 | \$67,040.00 |
| SDF BAC | ORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, R 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND CKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURES, AND ANY DESSARY FITTINGS, ETC., COMPLETE IN PLACE | EA | 26 | \$1,107.61 | \$28,797.86 | \$1,250.00 | \$32,500.00 | \$1,818.00 | \$47,268.00 |
| | INSPECTION OF SANITARY SEWER LINES (TO BE USED ONLY AT THE ITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 2941 | \$2.00 | \$5,882.00 | \$2.00 | \$5,882.00 | \$2.00 | \$5,882.00 |
| 15 TRE | NCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE | LF | 3329 | \$2.00 | \$6,658.00 | \$2.00 | \$6,658.00 | \$2.00 | \$6,658.00 |
| 16 FIN | AL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE | EA | 18 | \$324.32 | \$5,837.76 | \$1.00 | \$18.00 | \$88.00 | \$1,584.00 |
| | MOVE AND DISPOSE OF EXISTING 12" PLUG AND CONNECT PROPOSED IITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$388.61 | \$388.61 | \$638.00 | \$638.00 | \$8.00 | \$8.00 |
| SANITARY | SEWER SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL: | | | | \$346,962.32 | | \$311,374.62 | | \$426,925.46 |
| DRAINAG | E FACILITIES ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | 10 | | | | | |
| 1 24" PLA | R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 1589 | \$70.13 | \$111,436.57 | \$77.00 | \$122,353.00 | \$78.00 | \$123,942.00 |
| 2 30" PLA | R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 43 | \$117.16 | \$5,037.88 | \$96.00 | \$4,128.00 | \$88.00 | \$3,784.00 |
| 3 36" PLA | R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 226 | \$119.46 | \$26,997.96 | \$138.00 | \$31,188.00 | \$124.00 | \$28,024.00 |
| 4 42" PLA | R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 417 | \$166.35 | \$69,367.95 | \$180.00 | \$75,060.00 | \$161.00 | \$67,137.00 |
| 5 48" PLA | R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 58 | \$215.28 | \$12,486.24 | \$215.00 | \$12,470.00 | \$175.00 | \$10,150.00 |
| 6 54" PLA | R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 36 | \$293.26 | \$10,557.36 | \$312.00 | \$11,232.00 | \$251.00 | \$9,036.00 |
| 7 60" PLA | R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 400 | \$316.98 | \$126,792.00 | \$361.00 | \$144,400.00 | \$318.00 | \$127,200.00 |
| 8 5'X5 PLA | 5' R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN ICE | LF | 77 | \$436.28 | \$33,593.56 | \$485.00 | \$37,345.00 | \$448.00 | \$34,496.00 |
| 9 6'X5 PLA | 5' R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 116 | \$534.83 | \$62,040.28 | \$612.00 | \$70,992.00 | \$506.00 | \$58,696.00 |
| 10 7'X5 PLA | 5' R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 178 | \$641.78 | \$114,236.84 | \$748.00 | \$133,144.00 | \$608.28 | \$108,273.84 |
| 11 7'X6 PLA | S'R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN CE | LF | 160 | \$662.95 | \$106,072.00 | \$785.00 | \$125,600.00 | \$708.18 | \$113,308.80 |

Page 8 of 16 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LJA ENGINEERING, INC. C CORTEZ

| LJA | JOB NO. | | 1. | 417-1303D (9.2) | | | | | | | |
|------|---|------|------|-----------------|----------------|-------------|--------------|---------------------------------|--------------|--|--|
| | | | | 4) NORTHTEX CON | STRUCTION, LLC | 5) TEXASI | ΓE, LLC | 6) HURTADO CONSTRUCTION COMPANY | | | |
| ITEN | M DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | | |
| 12 | 10'X7' R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 154 | \$1,200.44 | \$184,867.76 | \$1,311.00 | \$201,894.00 | \$968.38 | \$149,130.52 | | |
| 13 | STAGE I - 10' PRECAST CURB INLET (ALL DEPTHS), (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE | EA | 13 | \$1,648.89 | \$21,435.57 | \$1,962.00 | \$25,506.00 | \$2,908.00 | \$37,804.00 | | |
| 14 | STAGE II - 10' PRECAST CURB INLET (ALL DEPTHS), (INCLUDES TEMPORARY SAND FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE | EA | 13 | \$2,704.31 | \$35,156.03 | \$3,815.00 | \$49,595.00 | \$3,568.00 | \$46,384.00 | | |
| 15 | TYPE "C" MANHOLE WITH TYPE "E" TOP FOR 42" STORM SEWER AND SMALLER, COMPLETE IN PLACE | EA | 1 | \$3,534.15 | \$3,534.15 | \$3,706.00 | \$3,706.00 | \$3,688.00 | \$3,688.00 | | |
| 16 | TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, COMPLETE IN PLACE | EA | 5 | \$5,044.46 | \$25,222.30 | \$4,905.00 | \$24,525.00 | \$5,188.00 | \$25,940.00 | | |
| 17 | JUNCTION BOX WITH TYPE "C" MANHOLE PER DETAIL, ALL DEPTHS, COMPLETE IN PLACE | EA | 6 | \$17,913.65 | \$107,481.90 | \$19,947.00 | \$119,682.00 | \$20,438.00 | \$122,628.00 | | |
| 18 | JUNCTION BOX WITH TYPE "C" MANHOLE WITH TYPE "E" INLET TOP PER DETAIL, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$17,345.38 | \$17,345.38 | \$17,440.00 | \$17,440.00 | \$16,800.00 | \$16,800.00 | | |
| 19 | STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE | EA | 14 | \$1,648.89 | \$23,084.46 | \$1,744.00 | \$24,416.00 | \$1,080.00 | \$15,120.00 | | |
| 20 | STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE | EA | 14 | \$2,303.85 | \$32,253.90 | \$1,962.00 | \$27,468.00 | \$1,518.00 | \$21,252.00 | | |
| 21 | TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE | EA | 14 | \$3,182.73 | \$44,558.22 | \$3,379.00 | \$47,306.00 | \$2,988.00 | \$41,832.00 | | |
| 22 | CITY OF MISSOURI CITY (COMC) CONSTRUCTION PERMIT FOR CONSTRUCTION OF WS&D (PERCENTAGE OF WS&D CONSTRUCTION COST AS REQUIRED BY COMC), COMPLETE IN PLACE | LS | 1 | \$26,315.97 | \$26,315.97 | \$2,725.00 | \$2,725.00 | \$18,958.00 | \$18,958.00 | | |
| 23 | TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE | LF | 3454 | \$0.61 | \$2,106.94 | \$1.00 | \$3,454.00 | \$1.00 | \$3,454.00 | | |
| 24 | FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE | EA | 27 | \$267.12 | \$7,212.24 | \$1.00 | \$27.00 | \$88.00 | \$2,376.00 | | |
| 25 | WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED ON- SITE, INCLUDES EXCAVATION, HAULING, PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE | CY | 7054 | \$2.60 | \$18,340.40 | \$2.00 | \$14,108.00 | \$0.88 | \$6,207.52 | | |
| 26 | INSTALLATION AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 1 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | | |
| 27 | CLEANOUT AND TOTAL DE-SILTING OF STORM SEWER SYSTEM, BY ANY MEANS NECESSARY, INCLUDING COFFER DAMS, PUMPING, AND ALL OTHER APPURTENANCES (ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 3454 | \$4.00 | \$13,816.00 | \$4.00 | \$13,816.00 | \$4.00 | \$13,816.00 | | |
| 28 | ANY REQUIRED FORT BEND COUNTY PERMITS, COMPLETE IN PLACE | LS | 1 | \$1,144.18 | \$1,144.18 | \$2,180.00 | \$2,180.00 | \$2,000.00 | \$2,000.00 | | |
| 29 | 8" BRICK PLUG FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE | EA | 3 | \$354.46 | \$1,063.38 | \$545.00 | \$1,635.00 | \$100.00 | \$300.00 | | |
| 30 | PROPOSED V-BOTTOM SWALE, INCLUDES EXCAVATION, EMBANKMENT, STRIPPING, STOCKPILE OF STRIPPINGS, RE-APPLICATION OF STRIPPINGS, AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE | LF | 692 | \$5.91 | \$4,089.72 | \$4.00 | \$2,768.00 | \$2.00 | \$1,384.00 | | |

OCTOBER 31, 2024

1417-1583D (9.2)

Page 9 of 16 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS SUBTOTAL:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7

CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024
LJA ENGINEERING, INC.
C CORTEZ

OCTOBER 31, 2024 1417-1583D (9.2)

| 207.002.10. | | | | () | | | | | |
|------------------------------|---|------|------|------------------|----------------|-------------|----------------|-------------------|----------------|
| | | | | 4) NORTHTEX CONS | STRUCTION, LLC | 5) TEXASIT | E, LLC | 6) HURTADO CONSTR | UCTION COMPANY |
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| 31 DEMUCK, SCA IN PLACE | RIFY, AND PROOF ROLL EXISTING V-BOTTOM SWALES, COMPLETE | SY | 2706 | \$8.02 | \$21,702.12 | \$5.00 | \$13,530.00 | \$0.68 | \$1,840.08 |
| | DISPOSE OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED R, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$714.79 | \$714.79 | \$545.00 | \$545.00 | \$8.00 | \$8.00 |
| | T PER COMC STANDARDS, INLET TOP TO BE FLUSH WITH NATURAL MPLETE IN PLACE | EA | 1 | \$3,074.85 | \$3,074.85 | \$3,706.00 | \$3,706.00 | \$1,000.00 | \$1,000.00 |
| | T PER COMC STANDARDS, INLET TOP TO BE FLUSH WITH OMPLETE IN PLACE | EA | 4 | \$3,765.77 | \$15,063.08 | \$3,488.00 | \$13,952.00 | \$500.00 | \$2,000.00 |
| DRAINAGE FACILITI | ES ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL: | | | | \$1,289,701.98 | | \$1,383,396.00 | | \$1,219,469.76 |
| MISCELLANEOUS IT | EMS | | | | | | | | |
| ON BEHALF O | EDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER F THE CONTRACTOR, (TO BE USED ONLY AS DIRECTED BY THE OMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 |
| 2 STANDARD DI COMPLETE IN | EDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), PLACE | HR | 0 | -\$125.00 | \$0.00 | -\$125.00 | \$0.00 | -\$125.00 | \$0.00 |
| | EDUCT FOR DAMAGE TO WETLANDS FENCING BY THE R, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 0 | -\$10.00 | \$0.00 | -\$10.00 | \$0.00 | -\$10.00 | \$0.00 |
| | EDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO Y AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 |
| MISCELLANEOUS IT | EMS SUBTOTAL: | | | | \$0.00 | | \$0.00 | | \$0.00 |
| ALTERNATE BID NO | . 1 – WS&D FIELD CONDITIONS ITEMS | | | | | | | | |
| SIZES, EXCLU | CK OR AUGER (WET BORE) OF WATER LINE, ALL DEPTHS, ALL DES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE OMPLETE IN PLACE | LF | 100 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 |
| PIT, TRENCH | OR WATER LINE BORE, INCLUDES BORE PIT, DEWATERING OF BORE SAFETY FOR BORE PIT, & FILLED WITH 95% STANDARD PROCTOR MPLETE IN PLACE | EA | 2 | \$100.00 | \$200.00 | \$100.00 | \$200.00 | \$100.00 | \$200.00 |
| | OF RIGHT OF WAY (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE | LF | 3300 | \$20.00 | \$66,000.00 | \$20.00 | \$66,000.00 | \$20.00 | \$66,000.00 |
| SIZES, EXCLU | CK OR AUGER (WET BORE) OF SANITARY SEWER, ALL DEPTHS, ALL DES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE OMPLETE IN PLACE | LF | 100 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 |
| BORE PIT, TR | OR SANITARY SEWER BORE, INCLUDES BORE PIT, DEWATERING OF ENCH SAFETY FOR BORE PIT, AND FILLED WITH 95% STANDARD INSITY, COMPLETE IN PLACE | EA | 2 | \$100.00 | \$200.00 | \$100.00 | \$200.00 | \$100.00 | \$200.00 |
| | COST FOR MISSOURI CITY MODIFIED "A-A" SANITARY SEWER BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN | LF | 1391 | \$12.00 | \$16,692.00 | \$12.00 | \$16,692.00 | \$12.00 | \$16,692.00 |
| 7 CEMENT STAE COMPLETE IN | SILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), PLACE | CY | 500 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 |
| | COST FOR MISSOURI CITY MODIFIED "A-A" STORM SEWER BEDDING, ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 1955 | \$16.00 | \$31,280.00 | \$16.00 | \$31,280.00 | \$16.00 | \$31,280.00 |
| | | | | | | | | | |

\$128,372.00 \$128,372.00 \$128,372.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
OCTOBER 31, 2024
LJA ENGINEERING, INC.
C CORTEZ
OCTOBER 31, 2024
1417-1583D (9.2)

| | | | | (-) | | | | | |
|----------------------------------|---|------|-----|----------------|------------------|-----------|----------------|------------------|------------------|
| | | | | 4) NORTHTEX CO | ONSTRUCTION, LLC | 5) TEXA | SITE, LLC | 6) HURTADO CONST | TRUCTION COMPANY |
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| | | | | | | | | | |
| BIDDING SUMMARY | | | | | | | | | |
| | STEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | \$314,968.94 | | \$273,354.81 | | \$322,267.75 |
| | M ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | \$346,962.32 | | \$311,374.62 | | \$426,925.46 |
| SUBTOTAL DRAINAGE FACILITIES ITE | MS – INTERNAL (SIENNA MUD NO. 7) | | | | \$1,289,701.98 | | \$1,383,396.00 | | \$1,219,469.76 |
| SUBTOTAL MISCELLANEOUS ITEMS | | | | | \$0.00 | | \$0.00 | | \$0.00 |
| TOTAL AMOUNT BASE BID | | | | | \$1,951,633.24 | | \$1,968,125.43 | | \$1,968,662.97 |
| ALTERNATE BID NO. 1 – WS&D FIELD | CONDITIONS ITEMS | | | | | | | | |
| TOTAL AMOUNT BASE BID | | | | | \$1,951,633.24 | | \$1,968,125.43 | | \$1,968,662.97 |
| SUBTOTAL ALTERNATE BID NO. 1 – W | | | | | \$128,372.00 | | \$128,372.00 | | \$128,372.00 |
| TOTAL AMOUNT INCLUDING ALTERNA | ATE BID NO. 1 – WS&D FIELD CONDITIONS ITEMS | | | | \$2,080,005.24 | | \$2,096,497.43 | | \$2,097,034.97 |
| | | | | | 36 | | | | |

Page 11 of 16 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
OCTOBER 31, 2024

8) FELLERS AND CLARK LP

MG.

LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024 1417-1583D (9.2)

7) RODRIGUEZ CONSTRUCTION GROUP, LLC

| | | | /) | RUDRIGUEZ CONSTR | OCTION GROUP, LLC | 8) FELLERS AN | D CLARK LP |
|------|---|------|-------|------------------|-------------------|---------------|--------------|
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| WAT | ER DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | | | |
| 1 | METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARTNERS, L.P., 281.499.4539, COMPLETE IN PLACE | LS | 1 | \$12,302.00 | \$12,302.00 | \$12,302.00 | \$12,302.00 |
| 2 | AS BUILT CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARNERS, LP, 281.499.4539, COMPLETE IN PLACE | LS | 1 | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 |
| 3 | 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE | EA | 17 | \$1,993.41 | \$33,887.97 | \$2,240.15 | \$38,082.55 |
| 4 | 8" PLUG AND CLAMP, COMPLETE IN PLACE | EA | 3 | \$374.50 | \$1,123.50 | \$274.40 | \$823.20 |
| 5 | 2" BLOW OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE | EA | 3 | \$588.50 | \$1,765.50 | \$607.10 | \$1,821.30 |
| 6 | 8" PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE | LF | 2805 | \$36.77 | \$103,139.85 | \$40.95 | \$114,864.75 |
| 7 | FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6° GATE VALVE & BOX, 6° LEAD, FLUSHING VALVE, COMPLETE IN PLACE | EA | 8 | \$7,855.94 | \$62,847.52 | \$6,679.15 | \$53,433.20 |
| 8 | CAST IRON FITTINGS, COMPLETE IN PLACE | TON | 1.47 | \$7,736.10 | \$11,372.07 | \$150.00 | \$220.50 |
| 9 | TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE | LF | 2805 | \$0.21 | \$589.05 | \$0.10 | \$280.50 |
| 10 | REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CLAMP AND CONNECT PROPOSED 8" WATERLINE, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$374.50 | \$374.50 | \$182.15 | \$182.15 |
| 11 | SHORT SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY FITTINGS, ETC., COMPLETE IN PLACE | EA | 27 | \$752.21 | \$20,309.67 | \$731.20 | \$19,742.40 |
| 12 | LONG SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY FITTINGS, ETC., COMPLETE IN PLACE | EA | 49 | \$1,341.78 | \$65,747.22 | \$1,418.05 | \$69,484.45 |
| WATI | ER DISTRIBUTION SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL: | | | | \$315,958.85 | | \$313,737.00 |
| SANI | TARY SEWER SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | B 1 | | | | | |
| 1 | 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 0' – 12' DEPTH, COMPLETE IN PLACE | LF | 1100 | \$46.94 | \$51,634.00 | \$54.55 | \$60,005.00 |
| 2 | 8" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 12' - 16' DEPTH, COMPLETE IN PLACE | LF | 1135 | \$49.65 | \$56,352.75 | \$54.55 | \$61,914.25 |
| 3 | 8" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 16' - 20' DEPTH, COMPLETE IN PLACE | LF | 139 | \$51.36 | \$7,139.04 | \$54.55 | \$7,582.45 |
| 4 | 12" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 16' - 20' DEPTH, COMPLETE IN PLACE | LF | 117 | \$64.20 | \$7,511.40 | \$75.30 | \$8,810.10 |
| 5 | 5' SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE | EA | 7 | \$6,837.30 | \$47,861.10 | \$7,085.45 | \$49,598.15 |
| 6 | EXTRA VERTICAL DEPTH OF 5' SANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE IN PLACE | VF | 51.14 | \$593.85 | \$30,369.49 | \$261.05 | \$13,350.10 |
| 7 | 8" SANITARY SEWER PLUG, COMPLETE IN PLACE | EA | 2 | \$321.00 | \$642.00 | \$151.75 | \$303.50 |
| 8 | STANDARD SANITARY SEWER DROP STRUCTURE (0'-2'), ALL SIZES, COMPLETE IN PLACE | EA | 2 | \$1,053.95 | \$2,107.90 | \$1,274.90 | \$2,549.80 |
| 9 | STANDARD SANITARY SEWER DROP STRUCTURE (0'-2'), ALL SIZES, COMPLETE IN PLACE | VF | 10.92 | \$26.75 | \$292.11 | \$36.45 | \$398.03 |

Page 12 of 16 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LIJA ENGINEERING, INC. C CORTEZ

8) FELLERS AND CLARK LP

OCTOBER 31, 2024 1417-1583D (9.2)

7) RODRIGUEZ CONSTRUCTION GROUP, LLC

| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | |
|------------------------|--|------|------|------------|--------------|------------|--------------|-----|
| | RD SANITARY SEWER MANHOLE, (0' – 8' DEPTH), INCLUDING INFLOW TOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE | EA | 11 | \$5,029.00 | \$55,319.00 | \$5,440.15 | \$59,841.65 | |
| | ERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLES, (OVER 8' COMPLETE IN PLACE | VF | 21.7 | \$454.75 | \$9,868.07 | \$139.65 | \$3,030.41 | |
| SDR 26, C BACKFILL | DE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND L, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURE, AND ANY ARY FITTINGS, ETC., COMPLETE IN PLACE | LF | 838 | \$73.59 | \$61,668.42 | \$67.45 | \$56,523.10 | MG. |
| SDR 26, 0 BACKFILL | SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND L, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURES, AND ANY ARY FITTINGS, ETC., COMPLETE IN PLACE | EA | 26 | \$1,845.75 | \$47,989.50 | \$1,949.05 | \$50,675.30 | |
| | ECTION OF SANITARY SEWER LINES (TO BE USED ONLY AT THE IDRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 2941 | \$2.00 | \$5,882.00 | \$2.00 | \$5,882.00 | |
| 15 TRENCH | SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE | LF | 3329 | \$2.00 | \$6,658.00 | \$2.00 | \$6,658.00 | |
| 16 FINAL AD | JUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE | EA | 18 | \$53.50 | \$963.00 | \$10.00 | \$180.00 | |
| | AND DISPOSE OF EXISTING 12" PLUG AND CONNECT PROPOSED Y SEWER, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$909.50 | \$909.50 | \$424.95 | \$424.95 | |
| SANITARY SEW | /ER SYSTEM ITEMS - INTERNAL (SIENNA MUD NO. 7) SUBTOTAL: | | | | \$393,167.28 | | \$387,726.79 | |
| DRAINAGE FAC | CILITIES ITEMS – INTERNAL (SIENNA MUD NO. 7) | | | | | | | |
| 1 24" R.C.P. PLACE | STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 1589 | \$85.25 | \$135,462.25 | \$103.70 | \$164,779.30 | |
| 2 30" R.C.P. PLACE | . STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 43 | \$102.08 | \$4,389.44 | \$123.25 | \$5,299.75 | |
| 3 36" R.C.P. PLACE | . STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 226 | \$150.34 | \$33,976.84 | \$164.30 | \$37,131.80 | |
| 4 42" R.C.P. PLACE | . STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 417 | \$200.09 | \$83,437.53 | \$211.50 | \$88,195.50 | |
| 5 48" R.C.P. PLACE | . STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 58 | \$241.82 | \$14,025.56 | \$249.15 | \$14,450.70 | |
| 6 54" R.C.P. PLACE | . STORM SEWER, ASTM C-76, CLASS III. ALL DEPTHS, COMPLETE IN | LF | 36 | \$340.80 | \$12,268.80 | \$354.25 | \$12,753.00 | |
| 7 60" R.C.P. PLACE | . STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 400 | \$415.16 | \$166,064.00 | \$405.65 | \$162,260.00 | |
| 8 5'X5' R.C. PLACE | B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 77 | \$516.28 | \$39,753.56 | \$552.95 | \$42,577.15 | |
| 9 6'X5' R.C. PLACE | B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 116 | \$577.59 | \$67,000.44 | \$670.05 | \$77,725.80 | |
| 10 7'X5' R.C. PLACE | B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 178 | \$690.15 | \$122,846.70 | \$801.45 | \$142,658.10 | |
| 11 7'X6' R.C. PLACE | B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN | LF | 160 | \$731.88 | \$117,100.80 | \$859.25 | \$137,480.00 | |

Page 13 of 16 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

> STRIPPING, STOCKPILE OF STRIPPINGS, RE-APPLICATION OF STRIPPINGS, AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024

1417-1583D (9.2)

| | | | | ` ' | | | | |
|------|---|------|------|--------------------------------------|--------------|-------------------------|--------------|-----|
| | | | 7) F | 7) RODRIGUEZ CONSTRUCTION GROUP, LLC | | 8) FELLERS AND CLARK LP | | |
| ITEN | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST | |
| 12 | 10'X7' R.C.B. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE | LF | 154 | \$1,191.98 | \$183,564.92 | \$1,377.50 | \$212,135.00 | |
| 13 | STAGE I - 10' PRECAST CURB INLET (ALL DEPTHS), (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE | EA | 13 | \$2,140.00 | \$27,820.00 | \$1,280.95 | \$16,652.35 | |
| 14 | STAGE II - 10' PRECAST CURB INLET (ALL DEPTHS), (INCLUDES TEMPORARY SAND FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE | EA | 13 | \$2,675.00 | \$34,775.00 | \$3,065.80 | \$39,855.40 | MG. |
| 15 | TYPE "C" MANHOLE WITH TYPE "E" TOP FOR 42" STORM SEWER AND SMALLER, COMPLETE IN PLACE | EA | 1 | \$4,815.00 | \$4,815.00 | \$4,505.25 | \$4,505.25 | |
| 16 | TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, COMPLETE IN PLACE | EA | 5 | \$5,885.00 | \$29,425.00 | \$8,997.70 | \$44,988.50 | |
| 17 | JUNCTION BOX WITH TYPE "C" MANHOLE PER DETAIL, ALL DEPTHS, COMPLETE IN PLACE | EA | 6 | \$18,939.00 | \$113,634.00 | \$21,260.80 | \$127,564.80 | |
| 18 | JUNCTION BOX WITH TYPE "C" MANHOLE WITH TYPE "E" INLET TOP PER DETAIL, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$13,375.00 | \$13,375.00 | \$18,225.40 | \$18,225.40 | |
| 19 | STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE | EA | 14 | \$1,605.00 | \$22,470.00 | \$1,135.25 | \$15,893.50 | |
| 20 | STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE | EA | 14 | \$1,819.00 | \$25,466.00 | \$2,525.45 | \$35,356.30 | |
| 21 | TYPE "C" MANHOLE FOR 42° STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE | EA | 14 | \$4,494.00 | \$62,916.00 | \$2,926.85 | \$40,975.90 | |
| 22 | CITY OF MISSOURI CITY (COMC) CONSTRUCTION PERMIT FOR CONSTRUCTION OF WS&D (PERCENTAGE OF WS&D CONSTRUCTION COST AS REQUIRED BY COMC), COMPLETE IN PLACE | LS | 1 | \$20,000.00 | \$20,000.00 | \$14,485.05 | \$14,485.05 | |
| 23 | TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE | LF | 3454 | \$0.27 | \$932.58 | \$0.10 | \$345.40 | |
| 24 | FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE | EA | 27 | \$53.50 | \$1,444.50 | \$25.00 | \$675.00 | |
| 25 | WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED ON- SITE, INCLUDES EXCAVATION, HAULING, PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE | CY | 7054 | \$2.14 | \$15,095.56 | \$3.05 | \$21,514.70 | |
| 26 | INSTALLATION AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 1 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | |
| 27 | CLEANOUT AND TOTAL DE-SILTING OF STORM SEWER SYSTEM, BY ANY MEANS NECESSARY, INCLUDING COFFER DAMS, PUMPING, AND ALL OTHER APPURTENANCES (ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 3454 | \$4.00 | \$13,816.00 | \$4.00 | \$13,816.00 | |
| 28 | ANY REQUIRED FORT BEND COUNTY PERMITS, COMPLETE IN PLACE | LS | 1 | \$3,745.00 | \$3,745.00 | \$2,213.86 | \$2,213.86 | |
| 29 | $8"\mbox{BRICK}$ PLUG FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE | EA | 3 | \$535.00 | \$1,605.00 | \$941.00 | \$2,823.00 | |
| 30 | PROPOSED V-BOTTOM SWALE, INCLUDES EXCAVATION, EMBANKMENT, STRIPPING STOCKPILE OF STRIPPINGS RE-APPLICATION OF STRIPPINGS AND | LF | 692 | \$4.82 | \$3,335.44 | \$9.10 | \$6,297.20 | |

FRN F-1386 Page 14 of 16

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS SUBTOTAL:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION $83\,$

8) FELLERS AND CLARK LP

MG.

SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS

7) RODRIGUEZ CONSTRUCTION GROUP, LLC

OCTOBER 31, 2024

LJA ENGINEERING, INC.

C CORTEZ OCTOBER 31, 20

| OCTOBER 31, 202 |) |
|------------------|---|
| 1417-1583D (9.2) | |

| | | | , |) NODINIOULZ CONSTI | NOCTION GROOT, LLC | O) I ELLENO AIN | ID OLANIC LI |
|------|---|------|------|---------------------|--------------------|-----------------|----------------|
| ITEM | DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL COST | UNIT COST | TOTAL COST |
| 31 | DEMUCK, SCARIFY, AND PROOF ROLL EXISTING V-BOTTOM SWALES, COMPLETE IN PLACE | SY | 2706 | \$10.70 | \$28,954.20 | \$4.85 | \$13,124.10 |
| 32 | REMOVE AND DISPOSE OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE | EA | 1 | \$481.50 | \$481.50 | \$667.80 | \$667.80 |
| 33 | TYPE "E" INLET PER COMC STANDARDS, INLET TOP TO BE FLUSH WITH NATURAL GROUND, COMPLETE IN PLACE | EA | 1 | \$4,280.00 | \$4,280.00 | \$3,625.00 | \$3,625.00 |
| 34 | TYPE "A" INLET PER COMC STANDARDS, INLET TOP TO BE FLUSH WITH PAVEMENT, COMPLETE IN PLACE | EA | 4 | \$2,675.00 | \$10,700.00 | \$3,746.40 | \$14,985.60 |
| DRAI | NAGE FACILITIES ITEMS – INTERNAL (SIENNA MUD NO. 7) SUBTOTAL: | | | | \$1,420,476.62 | | \$1,537,536.21 |
| MISC | CELLANEOUS ITEMS | | | | | | |
| 1 | STANDARD DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER ON BEHALF OF THE CONTRACTOR, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 |
| 2 | STANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), COMPLETE IN PLACE | HR | 0 | -\$125.00 | \$0.00 | -\$125.00 | \$0.00 |
| 3 | STANDARD DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE CONTRACTOR, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 0 | -\$10.00 | \$0.00 | -\$10.00 | \$0.00 |
| 4 | STANDARD DEDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 |
| MISC | ELLANEOUS ITEMS SUBTOTAL: | | | | \$0.00 | | \$0.00 |
| ALTE | ERNATE BID NO. 1 – WS&D FIELD CONDITIONS ITEMS | | | | | | |
| 1 | BORE AND JACK OR AUGER (WET BORE) OF WATER LINE, ALL DEPTHS, ALL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 100 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 |
| 2 | BORE PITS FOR WATER LINE BORE, INCLUDES BORE PIT, DEWATERING OF BORE PIT, TRENCH SAFETY FOR BORE PIT, & FILLED WITH 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE | EA | 2 | \$100.00 | \$200.00 | \$100.00 | \$200.00 |
| 3 | DEWATERING OF RIGHT OF WAY (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 3300 | \$20.00 | \$66,000.00 | \$20.00 | \$66,000.00 |
| 4 | BORE AND JACK OR AUGER (WET BORE) OF SANITARY SEWER, ALL DEPTHS, ALL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE | LF | 100 | \$20.00 | \$2,000.00 | \$20.00 | \$2,000.00 |
| 5 | BORE PITS FOR SANITARY SEWER BORE, INCLUDES BORE PIT, DEWATERING OF BORE PIT, TRENCH SAFETY FOR BORE PIT, AND FILLED WITH 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE | EA | 2 | \$100.00 | \$200.00 | \$100.00 | \$200.00 |
| 6 | ADDITIONAL COST FOR MISSOURI CITY MODIFIED "A-A" SANITARY SEWER BEDDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 1391 | \$12.00 | \$16,692.00 | \$12.00 | \$16,692.00 |
| 7 | CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | CY | 500 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 |
| 8 | ADDITIONAL COST FOR MISSOURI CITY MODIFIED "A-A" STORM SEWER BEDDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 1955 | \$16.00 | \$31,280.00 | \$16.00 | \$31,280.00 |
| | | | | | | | |

\$128,372.00 \$128,372.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 83 SIENNA MUNICIPAL UTILITY DISTRICT NO. 7 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS OCTOBER 31, 2024 LJA ENGINEERING, INC. C CORTEZ OCTOBER 31, 2024 1417-1583D (9.2)

7) RODRIGUEZ CONSTRUCTION GROUP, LLC 8) FELLERS AND CLARK LP

ITEM DESCRIPTION UNIT QTY UNIT COST TOTAL COST UNIT COST TOTAL COST

BIDDING SUMMARY

| TOTAL AMOUNT BASE BID | \$2,129,602.75 | \$2,239,000.00 |
|--|----------------|----------------|
| SUBTOTAL MISCELLANEOUS ITEMS | \$0.00 | \$0.00 |
| SUBTOTAL DRAINAGE FACILITIES ITEMS – INTERNAL (SIENNA MUD NO. 7) | \$1,420,476.62 | \$1,537,536.21 |
| SUBTOTAL SANITARY SEWER SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | \$393,167.28 | \$387,726.79 |
| SUBTOTAL WATER DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) | \$315,958.85 | \$313,737.00 |

ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS

TOTAL AMOUNT BASE BID \$2,129,602.75 \$2,239,000.00 SUBTOTAL ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS \$128,372.00 \$128,372.00

\$2,367,372.00

TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1 - WS&D FIELD CONDITIONS ITEMS \$2,257,974.75

> FRN F-1386 Page 16 of 16 LJA Engineering, Inc.